1. Ct& GIO|HZ cluster dendrogram = 2|11 201t 22 2&Q =Xt= 7 (108) (A2l Altt=euclidean, Z&E4 = complete)
40 ,55, 60, 95, 80, 90, 105, 10, 20, 30
400t 22 #He| =Xt ( )
2. L= OIO|E & cluster dendrogram 2 2|11 201f 22 #&Q =XH= ? (108) (H2| Altt=euclidean, & &4 = single)
40 ,55, 60, 95, 80, 90, 105, 10, 20, 30
401 2 2O =Xt= (( ) ( ) ( ))
3. THEEAMO| ‘default’ H|O|HHEZREH Ct2S F5t2t (508)
3.1 IAt 2HED} income ARO[Of A= ? (10F) p-value = ( ), AT (@ UACH @ 8iCh
3.2 IncomeO| 25,0009 AtEQ| mAt=tEZ ? (108) ( ) %
3.3 OtAk B2} balance + student AFO[Of 2HAH = ? (307)
balance p-value = ( ), incomelt It =EE2 AT (@ UCEL @ SUCH (107)
student p-value = ( ), incomet It SE2 A7 (@ UACH @ 8iCh (107)
balance=2,000, &4(student) & [f LAt SEL2 ? ( ) % (107)
4. Hilefd & StLEQl QA EH™H LR 24 Z4f Ch=aF 20| LIEFSCE (157)
Reference
Predicted 0 1
0 300 100
1 100 550
4.1 Accuracy 7 ( ) %
4.2 Sensitivity 7 ( ) %
4.3 Specificity ? ( ) %
5. 'dataTransactions.tab' G|O|HE 2-&50] ARAAEHAIE &5 # 22 x{ %2t (157)
vl LEAE, IHE I e, @ 1570 ol &= FYT 1, ® XK= 20% O|&, ME|Z 80% O|4
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